V/711 7 A Modell 6822
oie nanowenken-mascriven-weetwer 1 kiasse EleKtronik-Bohrschrauber

Pos. *PG Bestell-Nr. Bezeichnung

001
002
003
004
005
006
007
008
009
010

0t1
012
013
014
015
016
017
018
019
020

021
022
023
024
025
026
027
028
029
030

031
032
033
034
035
036
037
038
039
040

041
042
043

Z
22
6
2
13
9
1
21
2

3
1
27
2
15
28
8
18
20
2

18
45
3
18
2
8
31
3
12
5

28
20
1
17
37
4
19
1
23
1

2
23
S

P-05979

151561-4
421631-6
213373-4
416756-9
232154-7
911173-3
151562-2
421392-8

232050-9
216001-0
223107-7
233126-5
268034-1
226444-8
256439-7
212951-7
150997-4
253192-6

211031-6
511768-8
681614-0
211026-9
253192-6
410923-8
639306-5
O11581-8
343407-0
851360-1

157725-8
191950-1
911124-6
645253-0
651256-4
411852-8
155995-3
O11153-9
651478-6
911133-5

637031-2
P-12902
632559-5

DAUERMAGNETHALTER
FUHRUNGSHULSE
STAUBDICHTUNG

O-RING22
FESTSTELLHULSE
BLATTFEDER

SCHRAUBE M4x45 .
GETRIEBEGEHAUSE KOMPLETT

RING 20

BLATTFEDER
KUGEL 3,5
SPINDEL
DRUCKFEDER 6

STIFT 8

ZAHNRAD 46

STIFT 4

NADELLAGER 1023
LAGERDECKEL
SCHEIBE 14

RILLENKUGELLAGER 608LLB
ANKER INKL. 21, 23, 24
ISOLIERSCHEIBE
RILLENKUGELLAGER 627LLB
SCHEIBE 14
FELDABDECKUNG

FELD

SCHRAUBE M4x55
EINHANGEBUGEL
TYPENSCHILD

MOTORGEHAUSE

KOHLEBURSTEN CB-415

SCHRAUBE M4x |4

KONDENSATOR
ELEKTRONIKSCHALTER SGEL106CV-1A
STAUBSCHUTZ

GRIFFSCHALE

SCHRAUBE M4x28
DREHRICHTUNGSUMSCHALTER
SCHRAUBE M4x18

KABELKLEMMPLATTE

ANSCHLUSSLEITUNG 2x1m
KNICKSCHUTZ 8

*PG=Preisgruppe
Z=7Zubehor

—_— rele— - — —

Modell 6822

Modell 6822
November '98




